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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of
the test tear the OMR Answer sheat along the parforation mark at the top and handover the ariginal OMR answer sheet to
the invigilator and retain this duplicate copy with you.

4. TS FRIHE W P T gu-urs 3fR/a1 el HavaE B RE ¥ U 959t fawe (a), (b), (o) IR (d) RUmwE A @
Haw U §1 981 5w

Each objective question is provided with a text andfor figures wherever applicable with multiple answer choices {a), (b},
{c) and {d). Only one of them is correct.
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All objective lype questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for
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Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory tc be written
on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.
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Before signing the atiendance sheet, the candidate should write the Booklet Code in the atiendance sheet, Candidales
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A Uy IR fdeey
Q. No. Question Answer Options
1. |l BT Iopiad Gaq & U S @ 9HSt §d| A. 3 9@/ 3 jaw chuck
Frafelad yaia o 3ud glar g B. ®ide @ / Collet chuck
To set the work run eccentrically, the following method| C. AGTd&H [ 4 jaw chuck
is used to hold the job D. JUlad BIg T8l
' None of the above
2. |t S Wi ol oRdT oy 55 § B HsS ga| AL 190.98 IR ULTH.Apm
forget feT e 30 Hiex vl e & 51 g9H & forg| B. 1909.8 SIR.ULTH.pm
e i ghm C. 530.52 RYL U /rpm
The spindle speed to turn a mild steel rod of diameter| D. 5305.2 3R.UW.TA/rpm
50mm using HSS tool with a cutting speed of 30 meter
per minute is :
3. IM12 180 Aicd R I3 FT U .. ... ] A. 175 /mm
The pitch of M12 ISO metric coarse thread is B. 1.00 il /mm
C. 1.50 FLHl/ mm
D. 0.80 frAl/mm
4. | afofR 499 Micaex @ ORE Hge A 1°
The least count of vernier bevel protractor is B. 106~
c. 1
D. s’
5. |urgs Sic e v Rk gl A.
Side cutting edge angle is depicted in g }
ST
C. %
D. \D
6. |HfBTeEA D ... GRT SR STl g1 A. HERIT/ Concrete
Marking tables are made up of B. S/ Aluminum
C. UFTEET/ Granite
D. SR T 9B gt

None of the above

Page 2 of 14




TE 11 (Turner) : Series — B

AR e TR fdbeq
Q. No. | Question Answer Options
7. |Frofafea & 3 o1 ar $iEn wd & yerd T8l o A, SUR B ST T
Which of the following is not a function of cutting fluid To cool the tool
‘ B. foreg pl e e
To flush away the chips
c. Fau siR IR & wag o oy
DY STel BT
To increase the friction
between the chip & tool face
D. B qeg Bl dST b1l
To cool the work piece
8. [WUET ...ooeee GRI ST ST 5 A, TR WA/ Mild steel
Lathe bed is made of B. 9@ digl/ Cast iron
C. eref¥an/ Titanium
D. 3fegHIAH / Aluminum
9. |aftfer HAR gRT AUOT A dod, YA Wba Uod| A. 25.28 HL/mm
o5t 3R 28 @i 9ffR TuIT JoT Tha ¥ A B3 81| B. 25.14 Wdl/mm
gfofar @1 eike arde 0.02 frdl. g1 A § C. 25.56 Tl /mm
During measurement using vernier caliper, the main| D. 25.00 Bl /mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale, The least count of the
vernier is 0.02 mm. The measurement is
10. |Fafef@d gar o1 N Sig S TR [Risa § 98 Siad| A, T8 R/ Try square.
T & UG 8 B. EhIGE / Scriber
The following tool is used for setting the job concentric| C. Sdd Uledex / Bevel protractor
to the machine spindle D. Idg TS/ Surface gauge
1. |wRre W sfiale TuR e & R fw Swr el dfd 1] A, dga wa dfa
QU g fdvar o gl - Compound slide method
The tapér turning method which -cannot be used for| B. €W e T
internal taper turning on a lathe Taper turning attachment
C. T30 W Apye A
Tail stock offset method
D. SR XY PIS ol

None of the above

Page3 of 14




TE 11 (Tutner) : Series — B

7. 4. ) S fapey-
(). No. Question Answer Options
12. |1freqeH Te O Fufiea um 9 @ - gl A. T 2N/ Square head
A combination set doesn’t contain which of the below| B. &/ Rule
part C. Uieges i
Protractor head
D. SEd TS / Dial gauge
13. |20 3fJUTd 1:6 1381 T 51 WA WG AR S0 H1| A, 1/6
AT ... Rl | B. 1/18
The taper ratio is given as 1:6. The tangent of the] C. 1/12
compound slide swive] angle is given as D. 173
14, [Hedl @ de W, dfis..... & 9T g A. 109 + 91 81 &) 9B
In a multi start thread, the lead is equal to Pitch +number of starts
B. 09/ =87 &1 em
Pitch / number of starts
C. o - are g &) e
Pitch — number of starts
D. U x 3 8 & T
Pitch x number of starts
15 | qetie Yl - 2) A =
101 2
Evaluate G-2) B. .,2;
C. ::1;«2
D. =
16. | attafver enfeat & ferg, il geiaT @ uge 9¢ o G| A. 81 RT/ Major diameter
.. O g wifgu B. @Y T/ Minor diameter
For internal threading, the hole diameter to be drilled; C. ardfd® =R/ Effective
before threading operation is equal to diameter
D. 3RId Ry / Average diameter
17. | 1S (Sa) W -8 3¢ 91 & o e vramer &1| A, FERRT/ Drilling
JUgnT fopa Sirdl g B. 0/ Reaming
Which operation on a lathe is used for making non| C, { Boring
standard holes D. QWG o Y Hig Tl

None of the above

Page 4 of 14




TE 11 (Turner) : Series — B ‘

a9, Yy I fiwe ‘
). No. Question : Answer Options
18. [Tk 3R ze gl & o 59 weR & fga o1 A. NTPBR/Type N
fopar STrar 81 B. H &R/ Type H
For hard and tenacious material which type of drill is| C. S HPHR/ Type S
used D. JWRidd A ®lS 15l
None of the above
19. |31} waig TOpf & T WEt SR & &% B 9 3R A, IHX/ Reamer
TS F3 DI 9 (67 B ITEHL B, §ifAT e/ Boring tool
The multipoint cutting tool which is used to enlarge and| C. fawe {ga/ Twist drill
accurately size hole with good surface finish D. SWRiad d Y B3 ot
None of the above
20. |FPafdfaa § Y oA S ufsfca gra gl A. T TIT S Eg
Which of the following is a positive drive Cross flat belt drive
B. W@%H!Rope drive
C. dl-deT SB[/ V-belt drive
D. o gIgd/ Chain drive
21 (FafrRad I se g Ui arg @ 82 A. TTFIREH / Magnesium
Which of the following is the heaviest metal B. &P / Aluminum
C. dIEI/ copper
D. WS/ lead
22, 13 aR AR %Wﬁmﬁ\'ﬂ]—cﬁ%l A, Y & / Minor diameter
3 wire method is used to measure B. 98T/ Major diameter
C. argifas s
Effective diameter
D. SRIG Y G DIs 7]
None of the above
23. | eyt H 97 SHfARe BI......., B A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
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0.g e IR fdpeq
Q. No. Question Answer Options
24. [ TR1E forge! ofs T R4 gl Uld S B QU WR 7/167| o SER/Driver 40
s Pt gEt F1ed o R weama # orgoma .. gmmy | Eybren 70
The change gear ratio to cut a thread of 7/16” lead on a} B. T priven 70
lathe with lead screw of 4 threads per inch GISa /Driver 70
e f?;\'EI:f/Driverl T
D gIRdY /Driver - 70
* feFi/priven 80
25. |t & uref <o SR ga &1 AT @ & ferg A. G 8T Tl & &3 ¥ ST B
For a square of side ‘a’ and circle of radius ‘a’ Area of circle is greater than
' area of square
B. 9 &1 & g9 F &7 U T 2
Area of square is greater than
area of circle
C. gﬁ Bl & 3R g o1 & g
I
Area of the square and circle
are equal
D. e H Fopls el
None of the above
26. [T D IS I § 3R’ DT 0 § 8l L S BT , O-DX L
| |p9 darg § &R o AW ofarg §1 0F W st T p_dx
Al gRT e o & e siftede ..., 8| B =
If ‘D’ is the bigger diameter, ‘d’ is the smaller diameter,| ¢ £-9DX!
‘L’ is the total length of job and ‘7 is the taper length. (- x 1
The offset for taper turning by tail stock offset method| D- T
is given by
27 18T v W?{ﬁ_d%i A. {\FI/ Distance
Newton is the unit of B. BId/ Pressure
C. 9t/ Force
D. &l / Energy
28. |50, 70 3R 120 BT TS AT | A. 120
The arithmetic mean of 50, 70 & 120 is B. 240
C. 100
D.

80
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U Y. uy IR fdeseq
Q. No. Question Answer Options
29. | I} T PR BT ID B0 B A. FBUNTHS / Negative
For heavier depth of cut, the rake angle is B. YA/ Zero
C. YPRIHE / Positive
D, IR 7 8 B 781/ None of
the above
30. WW@T%@T@@WWWW24OW% A. 1.92z m?
3R FAsar 2.4 Hiex § O ST She 1 B B. 11.52nm’
The area of the sector of circle that has an arc measuring; C. 2.88x m’
240 degrees and a radius 0of 2.4 m D. 3.84m m’
31. |vfosa @t a8 A. TS x ST BIC BT §TFA
Stress is defined as IL.oad x area of cross section
B. d¢ x 9HY
Force x time
C. ddlx QF\PF
Force x distance
D. WIS/ IR BIE & YAHT
Load / area of cross section
32. | 83 o Qe A ufafda ven i cawafag g1 | AL 6
Generally hand tap set consists of following number of| B, 3
taps Co1
D. 2
33, [UHR: g Reu P UH U ... GRISISIGIA 81 | A, {TESIP / Adhesive
Generally tool bits are joined to the tool shank by B. 3&%’“ /Welding
C. dlaI suH/ Silver brazing
D. WS/ Soldering
34, | e YH: . & oy SugeRT A. TUEHR Bl Gdhgr
A steady rest is generally used for Holding the tool
B. ®d R yael SR axg & T
ISESEUG]
Support for turning long &
slender workpeice
C. g T
Eccentric turning
D. P K BT FRIMT

Clamping of workpeice
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0.3 Ty IR fqaen
Q. No. Question Answer Options
35, [Fyflad & oI i urg Iuws? wadl g1 A. I W
Which of the following is a non metallic tool material High speed steel
B.
Ceramic
C. 3ol Bl LI
High carbon steel
D. ¥R
Stellite
36. |afe TR TIRT 40 Hiex ufafire & ok SR wis 0.5, A. 3.14 fFe/minutes
O 90 ¢ 1 9 &1 TFH o foria! daTs 400 Mex 3R | B. 5.41 FFc/minutes
= 50 A § ut v quf we & g sigvae gwg| €. 1.25 Bdminutes
e BT _ D. 1.53 fF¢/minutes
If the cutting speed is 40 meter per minute and the tool
feed is 0.5 mm per revolution. The time required for one
complete cut on a piece of work 400mm long and
50mm diameter is
37, [Pl T A. BT G BT P
Follower rest Follows the workpiece
B. JUIHY B JHIHA
Follows the tool
C. WRIE AN U 3
Fixed to the lathe bed
D. ¢5d WP W 3
Fixed to the tail stock
38. |U1g I Bl YHY AP dis Bl Ufddy B T 9| A, BIS g
& o Bl Fed o Cold hardness
The property of a material to resist sudden load during| B. Y8 g8~
metal cutting is termed as Red hardness
C. THIY
Toughness
D.
Brittleness
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9.
Q. No.

st
Question

I [dFHeg

- Answer Options

39,

A& ARG ST H ... MRk

Preventive maintenance of machine involves

A @R Quaw &1 Srafe
raror

periodic inspection of machine
and equipment

. TUGH A=Y & SFIUR e

lubrication as per manufacturer
instructions

. FEH ) AfdRiT ok gl TRwd

servicing & overhauling of
machines

. SWigd gl

all of the above

40,

Hidfver G9 & S & WU 3 IUYdd D SURHY
The standard tool used to measure the diameter of an
internal recess

CIUERE N

Vernier caliper

Five point internal micrometer
S I

Dial gauge

i farg sifafier gl

Three point internal micrometer

41.

IR TC SR gidr el

Density is defined as

GOUHIA x 3IAdH
Mass x volume

SoOHT / ST

Mass / volume
S odHT + T
Mass + volume
T - A

Mass — volume

42,

Frafcfad arell 3 4 foad ov av der vl & fau
oo s g1

Machining of which of the following material requires
less cutting force

Rrio
Titanium
STRIY] €
Stainless.steel

SEgHI

Aluminum
g digl

Cast iron

43.

FofaRIa A QDN ¥ 9 SR A YeiRa g 7

Which of the following terms are associated with taper

Sowe

ST/ Jarno

1/ Morse .
137 9 ¥4 / Brown & Sharpe
JWRIeRT GHI 7 All of the above
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U9 Uy IR fdaed
Q. No. Question Answer Options
44. |9 fod FT fag HI...... B A, 90°
The point angle for a standard drill is B. 118°
‘ C. 108°
D. 125°
45. |Fafaigd 7 9 o9 985 31 9 (Hber) Bl W= A, @S dd
fafer & Syt =gt {5 o 9%ar g Mineral oil
Which of the below lubricant cannot be used in splash| B. URI/ Grease
method of lubrication C. gsadt (RRifea) da
Synthetic oil
D. WO da (i Hd )
Animal oil
46. | iy foraet 99 Bieam v SR TW g b § @7 S ... | 4 m0R
&! S
}
Volume of a cone of base radius ‘r* and height ‘h’ is B. WZ- :
C. mr?h
wrih
D. =
47, |dtae FTRR &7 IuEhT U0 29e & o9 Soll & TUY0 &| A, THHIR / Parallel
T UM BT g SN ooy &G B. ¥g - &/ Co-axial
Bevel gear is used to transmit power between shafts| ¢, U% BT U/ At an angle
which are D. SR H Y HIE T8
None of the above
48. |G oo, T TR B A. e o am
Brass is an alloy of Tin & copper
B. Hd
Aluminum & Magnesium
C. a3k i
Copper & zinc
D. fev1 9 fiep
Tin & Zinc
49. [500 TEHH ........... & FAA B A. 0.2 i f/mm
500 microns is equal to - B. 02 ¥ /em
C. 0.5 fd/mm
D. 0.5 ¥Hl/em
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o . Y IR fasey
(). No. Question Answer Options
50. | smyee | RIRIGIRET ... B A O
in drawing, cylindricity is represented as ' 0.1
B. (@01 {A
C. | llo1|a
D. |[&y| o1
51. 13 udg g ... & GRT U &1 Siidl 81 A. 1/ Turning
High surface finish is obtained by B, TR/ Milling
: C. RS/ Grinding
D. ®ftiT/ Lapping
52. 507607 B TEETRT) e B A, 0.02
s001 B. 0,04
Tolerance of 50-0.02 js C. 0.01
D. 0.03
53. | Fafiad o 9 S IRdetd Tadaieia) & A 25701
Which of the below is a bilateral tolerance +0.1
B. 25+0:2
+0.1
. 25-02
+0.0
D. 25+02
54. | 100 FAL o @l o8] & Sabul i F de ¥ a4fis| A 20 B /mm
fara Sapaiict 94d g, STai 80 i, sy e fapan| B. 10 L Hl/mm
S gl 2 C. 55 dt/mm
In eccentric turning of a rod of 100 mm diameter, what| D. 15 F.Hl/mm
is the maximum possible eccentricity at which a
diameter of 80 mm can be turned
55. | fre YR @t WR1E BT VAT e S I P ST §1 | A, % @t/ Cenire lathe
| Which type of lathe is used for production work B. &9 W4/ Bench lathe
C. U P& W/ Tool room
lathe
D. Wa@?m/ Capstan

and turret lathe
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. 4. T IR fdeped
Q. No. Question Answer Options
56. % TG foRir 98 W 240 i, &1 R § a5 9w A, 60 il mm
foh1 =T ol YHIdY BT Yepal B B. 120 frrfmm
A lathe having a swing over bed of 240mm can| C. 240 T /mm
accommodate a component of maximum diameter equal| D. 480 f&. 8 /mm
to
57. |Fufdfed o O va 9 eeR Suee? 9l 8 A. HSS
Which of the below is the hardest tool material B. aﬂafss/ Carbide
C. RRfAes 1 Ceramic
D. 8T/ Diamond
58. [6° & B0 fba T Qb ey B A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
59. |14 e © 9 fre W S ftisa o =i A. I HRT
Which of the below operation requires higher spindle Thread cutting
speed B. a“r?@_m Boring
C. T/ Reaming
D. Ut Tapping
60. | Ueh WRIG WX YIeRT Wigl Ul & §IE i/ &1 §arl S| A. BRI/ Facing
gl B. YW €1/ Taper turning
An operation on lathe where the diameter is increased| C. PFT/ Reaming
after operation is D. @A/ Knutling
N2 EI%/Rough work
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Wa'd%/Rough work
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Waﬁ%/Rough work

TE 11 (Turner) : Series — B

Page 14 of 14




